H ol B R =

e T % Wm A B
ELEA29ME 1 B BN TEER (R X R 8 S R ER LUBT R E436- 1 (RIHELSE B A80)
A £l D) = R A #H O B By
7 et 4 Z\ EEBHEHFELBETHA436-1
ER29F6A5H FH1E545% (R B B A E)
A FEEKE A AfL£EE M) BALLEEEM) A2 (M) g &
(B)Fa1E E Bh 28 B 8E AT 98,000,000
FUNR(EEER 93,500,000 93,500,000 %L
MEYS BEEXE 99,800,000
7 EL A () 94,200,000
Egﬁgg:%ﬁﬁ(ﬁ) X 99,300 000
i%}vﬂf‘/i(ﬁ) K= 103,800,000
EiEAS FonN1mEmEBRAEHt
EALE e KirmdE) I REEER2T B1&35 SORAFT KMR21-1401%FE
LHEEE 100,980,000 A (5L EEFIALLE 7,480,000 M)
ZYERH TR29FE6A 9H
MAERAR TRR30A3A26H

Y& DIER HBIE(IE) 18




